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Answers are to be given on a separate answer sheet.

There are 100 questions in this test. All are
compulsory. The question numbers 1 to 40 belong to
Sciences, 41 to 60 pertain to Mathematics and 61 to
100 are on Social Science subjects.

Please follow the instructions given on the answer
sheet for marking the answers.

Write your eight-digit Roll Number as allotted to
you in the admission card very clearly on the test-
booklet and darken the appropriate circles on the
answer sheet as per instructions given.

Write down and darken Booklet Number in the
appropriate circles on the answer sheet as per
instructions given.

Since the time allotted for this question paper is very
limited and all questions carry equal marks, you
should make the best use of it by not spending too
much time on any one question.

Rough work can be done anywhere in the booklet
but not on the answer sheet/loose paper.

Every correct answer will be awarded one mark.

THERE WILL BE A DEDUCTION OF 173
MARKS FOR EVERY WRONG ANSWER AND
NO MARKS WILL BE DEDUCTED FOR
UNATTEMPTED QUESTIONS.

Please return only the answer sheet to the
invigilator after the test.

English version of the question paper will be
considered as final in case of any dispute arising out
of variation in translation.
Please turn over the page and start answering
immediately after you are asked to do so.
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A segment of DNA contains 1200
nucleotides, of which 200 have adenine
base. How many cytosine bases are present
in this segment of DNA?

1. 100

2. 200
3. 400
4. 800

You are observing a non-chlorophyllous,
eukaryotic organism with chitinous cell
wall under a microscope. You shall
describe the organism as a

fungus.
alga.
protozoas.
bacterium.

-htb.}!\.):—-

Match the items given in Column A and
Column B, and identify the correct
alternative listed below.

Column A Column B
(a) Flying fish (i) Draco
(b) Flying lizard (i) Echidna
(c) Egg laying (iii) Exocoetus
mammal (iv) Struthio
(d) Flightless bird

(@)-(1), (b)-(iii), (c)-(ii), (d)-(iv)
(@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
(@)-(1), (b)-(iii), (c)-(iv). (d)-(ii)

B —

DNA & TF @3 | 1200 Jfeeratensy &
ford 200 wfem 9 21 DNA & 3@ @3
H forer T W Sufeya B2

100
200
400
800

o O

AU UEHEHY § TF FERfEa e,
gHfEfer e frad s=dm # S
fafs &, 3@ ® & T g = s frg
i & @ 2

1. g
2. Yo
3. WiErsieT
4. ffemoy
FieH-A T4 Faw-B H @ W wy w1
e # W@ forew &1 A

wieH-A wioH-B
(a) | W fEw O | =
(b) | e ferse @ | sfrem
(c) | #2 37 o wwE | (i) | wewidg
(d) | SEFRfed weh (V) | wfort

L. (@) = (@), (b) — (iii), (¢) - (ii), (d) - (iv)
2. (a) = (iii), (b) - (i), (¢) - (ii), (d) - (iv)
3. (a) - (iii), (b) - (i), (¢) = (iv), (d) - (ii)
4. (a) = (i), (b) — (i), (¢) = (iv), (d) - (ii)



Which one of the following statements about
cell organelles and their function is correct?

1. Mitochondria are associated with
anaerobic respiration.

2. Smooth endoplasmic reticulum is
involved in protein synthesis.

3. Lysosomes are important in membrane
biogenesis.

4. Golgi bodies are involved in packaging
and dispatching of materials.

A legumiriqus plant grown in an
autoclaved, sterilized soil fails to produce
root nodules because

1. autoclaved soil is not good for root
growth.

~ 2. autoclaved soil is devoid of bacteria.

3. autoclaving reduces N, content of soil.

4. plants cannot form root hairs in such a
soil.

The causative agent of the disease
‘sleeping sickness’ in human beings is an

1. intracellular parasite found in RBC.

2. extracellular parasite found in blood
plasma.

3. intracellular parasite found in WBC.

4. extracellular parasite found on the
surface of platelets.

4.

6.

frafafas #od § ¥ A W weA

Fifva 3R STF FE F aR A G 22

|, TRESETed EEdEE Y9Ed d Hedn
M 2 :

2. fast sfagedt sifes!, WA Gyeyo |
s el 2

3. wEaEm faee o fmi § weayg €

4, M ST wWEl W ¥
(Packaging) &% a faf= &= o
45 (dispatching) & forg el 2

T ergfaTE MY i AREdd q A

g g W S T W IEE @ R

(root nodules) =&l 3 FifH '

|. JREeE &1 g gA e & I &
 fom et R e

2. e §a1 Ssfar Wed ot

3, ReMeE ¥ 93 § N, &1 WEl FH @
T o

4, 9 3@ 9@ F1 9 H ga W9 (root
hair) &1 3 Hehl

et ® g @afa (Sleeping sickness)

M F1 ATchIfcTh FREH Th: ‘

l. 3<: FiyE (intracellular) YT
S e iR Foesei (RBC) # 9@
Ec &

2. @9 HIHE (extracellular) T
W @ e § g S el

3. 3: ®E (intracellular) TEEHal
S vad ®fR FHfoeeet (WBC) #
/T S 2

4. 9189 FIwHE (extracellular) TEIaEl
S Wieeied HI Fae W Y@ S 2
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The gene for hemophilia is present on X 7. #rdifaar =1 " X oA H U S

chromosome. If a hemophilic male marries
a normal female, the probability of their
son being hemophilic is

nil.

L.

2. 25%.
3. 50%.
4. 100%.

Abundance of coliform bacteria in a water
body is indicative of pollution from

petroleum refinery.
metal smelter.
fertilizer factory.
domestic sewage.

Prolonged exposure to the fumes released
by incomplete combustion of coal may
cause death of a human because of

1. inhalation of unburnt carbon particles.
2. continuous exposure to high
temperature.

increased level of carbon monoxide.
4. increased level of carbon dioxide.

(8]

The phenomenon of normal breathing in a  10.

human being comprises

I. an active inspiratory and a passive
expiratory phase.

2. apassive inspiratory and an active
expiratory phase.

3. both active inspiratory and expiratory
phases.

4. both passive inspiratory and expiratory
phases.

O

?l TR TF i e R ame
o 9w ¢ A T e
grEiferan St geare R eei?

I =

2.,25%

3. 50%

4. 100%

S § Fiei®m (coliform) Samg] wHi
g, fFE YR F wEwO F1 g9F 87
| Wi fprsd

2. U1 Wes (WA WeX)

3. 3 (FfeamEsR) el

4. e WA

Fiad o nfww T2 ¥ Frved ol ol o
o WHY TF @A ¥ U H gy o @
T T TR T&A FRO G

I. fo 5@t #7169 ®o %1 3r: vaEd

2. 399 A9 ® SER &

3, FET AAIATFES F w9 FEA

4. FET SEAFEES H W 98 S

qFd § UMW YEEA $1 URed & siad

I &-

1. gfFa s vam g faferw
ElCREERE]

2. fAfera o=1: vem @ Gfew
EICRECEE|

3. Hied 3<: vauq iR afed TRgvaad
4. fAfrg  3=: vama @k fafes
ARATTEA
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12,

13.

- Which one of the following statements is 11.

true with respect to photosynthesis?

1.

LS |

The girth of stem increases due to the 12.

Oxygen evolved during photosynthesis
comes from CO».

Chlorophyll a is the only
photosynthetic pigment in plants.
Photosynthesis occurs in stem of some
plants.

Photosynthesis does not occur in red
light.

activity of

& W R e

Which one of the following represents the  13.

lateral meristem.

apical meristem.

intercalary meristem.

apical and intercalary meristem.

correct sequence of reflex action?

L.

Receptor — sensory nerve — motor
nerve — spinal cord — muscle
Receptor — motor nerve — spinal
cord — sensory nerve —>muscle
Receptor — sensory nerve — spinal
cord — muscle — motor nerve
Receptor — sensory nerve — spinal
cord — motor nerve — muscle

frafafas sodl § ¥ FF @ FW THW

dyarwor & fowg § wEr 27

|. Ywme Gyewo ¥ S s e
2 9@ CO, ¥ it 2|

2. Ui § ke FRITGE T (a) € W
Hyerwuitg =i g

3. WY SISO %% Ul & @ § g
il |

4. YR GIAUY e G A T B e

T F O R Fae 1 wfEwaa | wed
#?

1. uvd fassras

2. vy fassaras

3. afae fasaas

4, UIvd 3R FHafae favsaias

frefafas § @ #W @ sgF wed

foran ) wet we 9 v 82

. T8 > Hadt dfe - WE aEeE
— LY — Uit

2. TR o WE dbE o iEey —
ot dfe — Wi

3. WY — WAl dhe — AESS —
o3t — W dtae

4. TE o T A o TEEg o
W e — Ui



14.

16.

In human female, immature eggs are for
the first time seen in ovary

at puberty.

before birth, at the fetus stage.
during the first menstrual cycle.
after the first year of birth.

N S R

What happens when a fixed amount of
oxygen gas is taken in a cylinder and
compressed at constant temperature?

a. Number of collisions of oxygen
molecules at per unit area of the wall of
the cylinder increase.

b. Oxygen (O,) gets converted into ozone (O;).

c. Kinetic energy of thc molecules of

oxygen gas increases.

1. (a)and (c)
2. (b) and (c)
3. (c)only
4. (a) only

The solubility of a substance S in water is
28.6% (mass by volume) at 50°C. When
50 mL of its saturated solution at 50°C is
cooled to 40°C, 2.4 g of solid S separates
out. The solubility of S in water at 40°C
(mass by volume) is :

2.4%

11.9%
26.2%
23.8%

d= L B e

14.

15.

16.

e foai °, uftuse eme weell SR
AUeRE ¥ %9 fEae 3 22

1. AR §

2. 9 | WEd, 40 FEeq H

3. WU Hged & QRA

4, 9 & TH 98 95

1 Bl € Safe st W w1 fifvE

T F UE faevey ¥ feer v W gdifea

foan s 21

a. faever =1 <R & 9fg R auwd
WS s o GuEZ #I GEA
g W B

b. SEESH (0,) F1 A (0;) H URed
& S 2l

c. SATaESE e # Tfaw I 9 gfE

B 9 2

(a) 7T (c)

(b) T (c)

(c) e

(a) shael

e b e

TF T3 S H 50°C a9 W wid H faega
28.6% (SEHHR-3Ed Wiawd) 81 5«9 39
F S0mL Tgw fa@@d 50°C ¥ 40°C o
Ivgl T < € @, S v #1 2.4 g I
Yo el € TSid S &1 wel # 40°C @9
R 9 ¥ faodar (SoaH-mEed wiav)
2l

1. 2.4%

11.9%
26.2%
23.8%

B



17.

18.

19.

20.

What mass of CO;, will be formed when 17.

6 g of carbon is burnt in 32 g of oxygen?

38¢g
12¢g
26 g
2¢g

= W RN =

The law of conservation of mass is valid 18.

for which of the following?
a. Reactions involving oxidation.
b. Nuclear reactions.
c. Endothermic reactions.

1. (a)and (c)
2. (a) and (b)
3. (b) and (c)
4. (b) only

How many sub-atomic particles are present 19.

in an oa-particle used in Rutherford’s
scattering experiment?

No. of No. of No. of
Protons Neutrons Electrons
be 4 0 0
2. 2 0 2
3 2 2 0
4, 2 2 1

A certain sample of element Z contains 20.

60% of °Z and 40% of "'Z. What is the
relative atomic mass of element Z in this
sample?

1. 69.2

2. 69.8
3. 70.0
4. 70.2

W 6g HTET HI 32 g i H S
I ? @ CO, ® et W w1 fmiw
g 2
1. 38¢g
2. 12
3. 26
4. 2¢g

TEaE e #w fem e o9 e W
g B R
a. e ¥y sfufrand
b. et sfafwan
c. oATeet stfufsramd
1. ()39 (c)
2. (a) 71 (b)
3. (b) 9 (c)
4. (b) FEw

WHE F T A A ol d
e SN FU Sufted B9

F WA B SN FH HEA

[ S5 5 Ty 56 T =N
oo o
—_oMNOo

ol

fodft 7@ 2 & T & "W § Oz &
60% T ¥ 7'Z 1 40%. %1 3@ T ° T
Z 1 SAfEE WA 9R 2

69.2
69.8
70.0
70.2

P W B e



21.

22.

23.

Compound A on strong heating in a boiling
tube gives off reddish brown fumes and a
yellow residue. When the aqueous solution
of A is treated with a few drops of sodium
hydroxide solution, a white precipitate
appeared. Identify the cation and anion
present in the compound A.

I. Copper (II) and nitrate
2. Lead (II) and chloride
3. Zinc and sulphate

4. Lead (II) and nitrate

A substance A reacts with another
substance B to produce the product C and a
gas D. If a mixture of the gas D and
ammonia is passed through an aqueous
solution of C, baking soda is formed. The
substances A and B are

1. HCIl and NaOH

2. HCl and Na;CO;

3. Naand HCI

4. Na;COj;and H-0

A metal occurs in nature as its ore X which
on heating in air converts to Y. Y reacts
with unreacted X to give the metal. The
metal is :

Hg
Cu
Zn
Fe

- B =

21.

22,

23.

Fifis A 1 F9H el ¥ o9 TRH FH W
o qU YA freherr @ qer Wl ety
W& B 2 A 9 o Wiy faegd o
diferm eEgERs food #1 39 o]
el Wil @ o W% S9eY WE @ 2l
AT A § SURud ¥FeEd Ud BUISEA
#

1. IR (I1) T2 B2

2. o (1) 71 FANSS

3. f5% aun 9e%e

4, &S (I1) Fo0 AL

Y A TR 99d B ¥ R w56 1Y C
aen 19 D S@1 ®1 AR T D qen e
& fogor #1 wed C & e fafgsw w
yalfed #W@ & o @ o "ie %1 fmo
e 21 v A @ BE

HCI dg1 NaOH

HC! 92T Na,CO;

Na 91 HC

Na,CO; @1 H,0

b =

W

TF oY W H oE X % €9 # faedt
2, o ag & Ww W W Y W e Rl
Yy fomr sifega X 9§ foeam & wig &1
fofor =ta 21 7 uig © -

1. Hg

2. Cu
D ol
4. Fe



24.

25,

26.

Assertion (A): Nitrate ores are rarely 24.
available.

Reason (R): Bond dissociation energy of
nitrogen is very high.

1. Both A and R are true and R is the
correct explanation of A.

2. Both A and R are correct but R is not
the correct explanation of A.

3. Aiscorrect and R is false.

4. Both A and R are false.

The number of structural isomers of the 25.

compound having molecular formula
C4HoBr is

3

L S

: 3
. 4
-

The total number of electrons and the 26.

number of electrons involved in the
formation of various bonds present in one
molecule of propanal (C,HsCHO) are
respectively.
1. 32 and 20
. 24 and 20
. 24 and 18
. 32and 18

PSS R

faam (A) : 2T 3 Wgd w9 AE0 o°

ECESICE

Wk (R) : TRSSA #1 &Y fadiom 3o agd

afus Bt 2

. ATAR SF1 94 € 941 R, A &1 T8
e B

2. ATAMRIA 9 ¢ fhg R, A %1 W&l
e T 2

3. A¥d € IR 2Ed|

4. ATAIR A EA B

AEA C4HoBr At A & W=
guEEEl B w8

it ol o
N s b W

WA (C,HsCHO) & wsH a19] | sufierm
FA ToaHEl Hl wEm au fafgs dw
il & 92 ToieeAl @1 wem waw: @

1. 32379 20

2. 24720

3. 2439118
4. 324118



27.

28.

Consider following as a portion of the

periodic table from Group No. 13 to 17.

Which of the following statement/s is/are

true about the elements shown in it?

I. V., W,Y and Z are less electropositive
than X.

II. V,W, XandY are more
electronegative than Z.

IIl. Atomic size of Y is greater than that of W.

IV. Atomic size of W is smaller than that of
X.

\% Z;
W &
X
1. 1.1l and Il
2. ITand Il
3, land IV
4, Il and IV

A man running with a uniform speed ‘u’ on
a straight road observes a stationary- bus at
a distance ‘d" ahead of him. At that instant,
the bus starts with an acceleration ‘a’. The
condition that he would be able to catch the
bus is

27. frefafas #1 wdd 9ot w9 | 13 9

28.

17 % %1 T 9N Aq ge, Frefafas

¥ FH-°1 FoUH TH Iufeud dal & fag

T 2

. X®Iga d V, W, Yad Z&H
feregauTen B

I Z& ga ¥ V, W, X @41 Y 3ifers
fargamomes 2

L. Y &1 98] 9est Wd afas

V. W T 919 95 X & F9 2

Vv Z
W Y
X
1. L ITqear il
2. [Tl
3. 1A iv
4. 1l a1V

T oAfe, S Tw WHE 9 4 8 &
wWeE vy W faaE 2, fed fer 5w
F AW W ‘4 G0 M IFEFEd A e
™ AU W, 99 ‘@0 O ¥ T g
Fu 2l Frefafed § 4 fem s 9 @@
= 99 F THS GHAl 27

2

)
(N8
IA
|



29.

30.

A ball is thrown vertically upwards with a 29, ws g #1 SR R § v 47 @ =9

given velocity ‘v’ such that it rises for 7
seconds (7 > 1). What is the distance
traversed by the ball during the last one
second of ascent (in meters)? (Acceleration
due to gravity is g m/s”.)

1

.4 vT+%g[T2—(T—l)z]

o
|og

glr* -(T-1)]

(S B IE )

The radius of a planet A is twice that of
planet B. The average density of the
material of planet A is thrice that of planet
B. The ratio between the values of
acceleration due to gravity on the surface
of planet A and that on the surface of
planet B is

»
3
% 2
2
5 2
3
4. 6

10

30.

TR HH 6 ? R 9 79 7% IW
F AR ISA B (7> 1)1 AREW & sifw |
dFve § R gw @ W T R (hew F)
1 B (e ©RO g m/s” 8)

1
. —gT?
28

2. vT+%g[T’ —(T-1)%]

= rojog

gir—a@ -]

TF W& A &1 B 98 B #1 g | S
W AT o F sl W U B &
el % sl ST w1 AW T R TR A
F! W W T[EAT &0 & 99 &1 T2 B
! GAE W [EEE @0 F TH W 9N
w1 2?2

[ 2
3
g 2
2
g, &
3
4. 6



31.

A small spherical ball of mass ‘m’ is used 31. F=AAM ‘m’ % TF SIEl Med g HI fwE

as the bob of a pendulum. The work done
by the force of tension on its displacement
is W,. The same ball is made to roll on a
frictionless table. The work done by the
force of normal reaction is W,. Again the
same ball is given a positive charge ‘g’ and
made to travel with a velocity v in a
magnetic field B. The work done by the
force experienced by the charged ball is
W;. If the displacements in each case are
the same, we have

l. W\<Wy<Ws;

2. W\>Wy>W;

3. W| = W:!_= W3

4. that W,, W>, W;cannot be related by
any equation

11

AeF & Med & 9§ 39E fEa S
2 =& forums W dAE-Ia gu
T FE W, 8 3= g w uw wuRfEd
IS W qEEE T € fuera it
a9 B fFa ™ wE W, € [ W R
aﬁ‘g’mmmﬁmw%aﬁtsﬁ
feedt e &4 BH van § W I
I g1 e e W SR 9| §N
o T w@ W 21 ARk A feufwai o
farargd §9A @ i

1. W\<Wy<W;

2. W >W,>W;,

- W|:W2=W3

4. W, W, W; & fedt @fiso gm
Hafug 781 f&ar <1 9&dr |



32.

33,

The variation in the kinetic energy (K.E.) 32.
and the potential energy (P.E.) of a particle
moving along the x-axis are shown in the
graphs below. Which one of the following
graphs violates the law of conservation of
energy?

I

P.E.

K.E.

X

The disc of a siren containing 60 holes 33.

rotates at a constant speed of 360 rotations
per minute. The emitted sound is in unison
with a tuning fork of frequency

270 Hz
360 Hz
480 Hz
540 Hz

&L -

12

x-3g: & ufia: vfam el wo &
s e (K.E.) 3o feafes s (P.E.) o
fomm &1 = @ ™ Wl d i
2 frefafes ol § @ B9 W @ S
W & Frag #1 oo w82

2.

X
60 foxi awit fFet @@ =t =SfEs
(fe=r) =1 360 = Wfd e =1 @&
THA W@ W YA Sl g1 Soatsi e,
frg smgfa & @i & ave= § 77
. 270 Hz
. 360 Hz

1
2
3. 480 Hz
4. 540 Hz



34.

35.

A tuning fork is excited by striking it with  34.

a padded hammer. What would be the
nature of the vibrations executed by the
prongs as well as the stem of the fork
respectively? (The reference direction is

w @i, fFf ERR TER W W
THUHT, Wiepg foran man 81 sEl qsh
e WA & @9 H 8 9 HEAl
Yepfa ShAW: 1 2 (wEf T F g

that of the propagation of the sound wave.) F1 feam €t weef faam 1)
1. Both vibrate longitudinally |. = 7 e €
2. Both vibrate transversely 2. I FEH T ¥
3. The prongs vibrate longitudinally : :
3. 99 e S F § TEE
whereas the stem vibrates transversely 3
4. The prong vibrate transversely whereas o I‘ 3N e :
the stem vibrates longitudinally 4. YO FTRY FH T § T@F
WY Feed HIA w @
Find the reading of the ammeter in the 35. 9= feg ™ ufgy & s &1 Ued 99
circuit given below. Ff
R/2 R/2
R R/2
. E p 2
" 2R " 2R
2 = 2. 2
4R 4R
. ¥ , ¥
TR TR
L s 7
R R

13



36.

37.

Three bulbs with individual power ratings 36. zm: 12 W, 2 W 3R 6 W gu& wifs
dris o 99 acd A9 i ™ qfiuy
fam & oER wafsm fFd ™ &1 v
ge9 § 10 9HUE § Ui FE H

of 12 W, 2 W and 6 W respectively are
connected as per the circuit diagram below.
Find the amount of heat dissipated by each
in 10 seconds.

—

8§J,1.33),4]
12071,20J,601]
10J,0:277J,251]

HH Fd wife)
12W
2w
m
6W
~
L ]
Nl
| I_I |
T
12V
1. 83.1337.4]
2. 120J,201,60)
3. 10).02771.251]
4, 12),1.661,5]

B W

12J,1.66J,51]

Which of the following can produce a
magnetic field?

Electric charges at rest

Electric charges in motion

Only by permanent magnets
Electric charges whether at rest or in
motion

oW

14

37.

Fretffan § @ 9 T ¥ E0 gAE
&9 F1 IAfd 3 That 27

1. farmmEeen § faga smaswi g7

2. Taa fagE smae g/

3.

4, faega smaw =R 3 forrmEeen 9 &

Aygar MfaaE



38. A wire is lying horizontally in the north- 38. u% ar &fqwr § sw-zfyw feon & @
south direction and there is a horizontal R ==l 7™ & R 3w et TR
magnetic field pointing towards the east. gy 2 ar o FS YIS AN IW H

Some positive charges in the wire move : i ;
north and an equal number of negative T F ¥ SR T wen # HomeE

charges move south. The direction of force FEY <o § i FW@ ) W W A
on the wire will be et o & fEenm @ g
N
- —
S ——— w ¥
—f———
e
5
1. east | 1. g
2. down, into the page 2. 91, T8 F e
i. up, (tnut of the page 3, FW, IS & FW
. Wwes
4. qfy=m
39.  Match the following: 39. frafafes « gafaa s
Phenomenon Reason ufree=n /T
(1) Rainbow A. | Scattering of (i) | Ty A. | T T THIUH
G Diwinkingofcars | B e GNECED B. | w7 e
11 WI ing of stars . ISpersion o
light __| iz
(iii) | Blue colour of C. | Fluctuation of (iii) | smprer 1 Fren | C. | SEEved H
sky the refraction W Tl ¥ e
index in EalEEIC]
?tm“phm (v) | sm ga@ca | D. | yom & e
ayers
(iv) | Advancementof | D. | Refraction of o et
sunrise and delay light W
of sunset
1. (i)-B, (ii)-D, (iii)-A, (iv)-C 1. (i)-B, (ii)-D, (iii)-A, (iv)-C
2. (i)-B, (ii)-C, (iii)-A, (iv)-D 2. (i)-B, (ii)-C, (iii)-A, (iv)-D
3. (i)-B, (ii)-A, (iii)-C, (iv)-D 3. (i)-B, (ii)-A, (iii)-C, (iv)-D
4. (i)-D, (ii)-B, (iii)-A, (iv)-C 4. (i)-D, (ii)-B, (iii)-A, (iv)-C
15
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40.

41.

42.

A person is suffering from both near 40.

sightedness and far sightedness. His
spectacles would be made of

1. two convex lenses with the upper lens
having a larger focal length than the
lower lens.

2. two concave lenses with the upper lens

having a smaller focal length than the

lower lens. '

a concave lens as the upper lens and a

convex lens as the lower lens

4. aconvex lens as the upper lens and a
concave lens as the lower lens

o

LCM of two numbers x and y is 720 and the  41.

LCM of numbers 12x and 5y is also 720.
The number y is

1. 180
2. 144
3. 120
4. 90

When a natural number x is divided by 5, 42.

the remainder is 2. When a natural number y
is divided by 5, the remainder is 4. The
remainder is z when x + y is divided by 5.

2z-5

The value of is

e
o

16

T Hf Feegfem qon qefea <4
¥ & ufga 21 S =@ Frefatag o
¥ fFa | a1 gm?

. ¥ 39 @w, s 3w & o9
wFE g0, = & A9 F www
¥ afus 2

2. ¥ IEaa og, faad s & o9 #
FiHE g0, 9 & &9 B G gl
T F9 B

3. W FH AF IJTqd AF R A9 F:

Aq I o9
4. IR F A9 I9a o9 3R = F
9 g od

T F@mE x @R yH AE (LCM) 720
% 9o Wemsi 12¢ 3R sy w w@wA 720
2 wem e

1. 180

2. 144

3. 120

4. 90

9 frdt wiha W& x w5 9 9
S ®, d VNEE 2 RIS FRE WEd
H@HyﬁS@ﬁWﬁmW%?ﬁ
ITFA 4 | NI 2B, T x+yH S

g W e S 2"‘3’5 F1 A &

ool o
|
(&

S/14NRS/2015—SAT—Hindi—2B



43.

44.

45.

If the zeroes of the polynomial

64x° —144x* +92x—15 are in A.P., then the
difference between the largest and the
smallest zeroes of the polynomial is

L
».8

—

7
8
3, 2
4
I
2

x and y are two non-negative numbers such
that 2x+ y =10. The sum of the maximum

and minimum values of (x + y) is

6
9
10
15

= Qe e

The number of integral solutions of the
equation

7[y+l]—2[y2 - l,]=9 is
y ¥

& W=
LS T O i =

17

43. If% 9gUR 64x° —144x* +92x-15
TF GO 4 H #, @R &
sifuad iR =Aa9 Y & dF &

A 2
I

2,

= Blw ool T

44. xﬁy@ﬁwm%ﬁ
2x+y=10 B (x+y) o AEHM 3R
= W H A @

1. 6
2. 9
3. 10
4. 15

45. gHiH 7[y+—1-J—2(y2+i2}=9 EQ
¥

ol ol ol
W N = O



47.

48.

A circle with area A cm? is contained in the  46.

interior of a larger circle with area (A+B)
cm® and the radius of the larger circle is 4
ecm. If A, B, A+B are in arithmetic
progression, then the diameter (in cm) of the
smaller circle is

V3

. —

2

43
B
83
T
4. 23

Each of the sides of a triangle is 8 cm less 47,

than the sum of its other two sides. Area of
the triangle (in cm?) is

1. 8

2. 83

3. 16

4, 16\3

If cosec x—cot x = -;» , where x#0, then 48.

the value of cos® x—sin® x is
16
25
9
25
8
25
7
25

1.

18

§I%A (A+B) cm’ A TH 9 9 &
AER H, BT A cm® I TH g
form € qur o2 99 #t B 4 em B
g A, B, A+B TF TAMR 9t # @, @
B2 I9 F1 =M (cm #) &

V3

1. —

2

43

3
83
3
4. 23

frdt foqe %1 vo% o susl s
el & A ¥ 8 cm FH 21 By @
W(cmzﬁ)%

I 8

2. 83

3. 16

4. 16\3

g cosec x —cot x=-;- 2, @l x#0 2,

T cos® x—sin?x 1 HHA &
16
25
9
25
8
25
7
25

I,



49.

50.

A sector with acute central angle @ is cut 49.

from a circle of diameter 14 ¢m. The area
(in cm®) of the circle circumscribing the
sector is
1. E%scczﬁ

7 2
2 Z{sc:c:zt?

o

3. Hc:os2 .4
2 2

In the figure, PQSO is a trapezium in which  50.

PQJ|OS, ZPOS=135° and Z0SQ=90°.
Points P, Q and R lie on a circle with centre
O and radius 12 cm. The area of the shaded
part, in cmz, is

9 14 cm 9 TF 9d § T HEE
H ¢ e UF s Fe T 8l 3™
fraEe & uftm @i T g9 F1 dawa
(cmzﬁ)%l

. S

1. —sec”—
T 2

amgfa ®, PQSO & weia ¢ fomd

PQ|OS, ZPOS=135° 3R £ 0SQ=90°
?1 fig P, Q iR &= O =t aen fn
12 cm 9t g9 R feora 81 wEifea wm

WQENTQ-I, cml2 'q%
.
135°
0 S R

' 61E 1. 61E

7 7

5 5

= 2. 61=

2. 617 7

5

% % e
7

2
7

19



51.

52.

53.

e B B e

A solid sphere is cut into identical pieces by
three mutually perpendicular planes passing
through its centre. Increase in total surface
area of all the pieces with respect to the
total surface area of the original Sphere is

250%
175%
150%
125%

A right circular cylinder has its height equal
to two times its radius. It is inscribed in a
right circular cone having its diameter equal
to 10 cm and height 12 cm, and the axes of
both the cylinder and the cone coincide.
Then, the volume (in cm®) of the cylinder is
approximately

1. 107.5

2. 118.6
3. 1275
4. 128.7

In the figure, ABCD is a square of side 1dm
and ZPAQ =45°. The perimeter (in dm) of
the triangle PQC is '

S1.

52.

53.

TF 3 A F ITF FF ° BH IH
e {1 IRERE difas qoll g FaeH
ZHe # FE@ W ¢ IR T F
Tl OIF AR HI ga 9 |l THE
F o gL dave ¥ g 9fs ¢

1. 250%

175%

150%
125%

e

fet @i g9 de W o wERl
= % TR & TR {1 TE 9o AN
10 cm 3R F9E 12 cm 9 % @4
g Ui & IdTd €, ¢ 97 IR F
A F A9 HOE &1 79, SO F AR
(cmsﬁ')"@ﬂ‘flﬂ%

1. 107.5

2. 118.6

3. 1275
4. 128.7

ampfa #, ABCD 91 1dm aren @ &
2 am ZpAQ = 45° 21 fags PQC =

gfH (dm ®) 21
D

A
B

1 2

2 142

% Wi+

4. 1+3

20

(SN ®

fal2
2J2-1
1+43

e e



54. Inthe figure, ABC is a triangle in which AD  54. amsfa #, ABC ©h 349 & fomd AD

bisects ZA, AC = BC, ZB = 72° and F07 A F1 gafgfaa #@ 8, AC = BC
CD = Iem. Length of BD (in cm) is /B = 72° 3R CD = lem 3 BD ®
waE (cm ™) €

B’
1)

L. 1 b 1
/3 L 2. )
2 2
3, $5-1 3, ¥5-1
2 2
" B+l A J3+1
2 2
55.  In the figure, BC is a chord of the circle 55. afgfa ®, BC %= O o gd &l Th
with centre O and A is a point on the minor Sar & @ A =M BC W T fag 2

arc BC. Then, ZBAC-ZOBC is equal to 79, /BAC-/OBC a0 &

/ |

1. 30° 1. 307
2. 60° 2. 60°
3. 80° 3. 80°
4. 90° 4, 90°

21



56.  In the figure, AAPB is formed by three 56. S H, F=R O 9/t g9 # A ol

tangents to the circle with centre O. If @ @ A APB 71 21 9 APB
=AN°
'4 APB =40°, then the measure of ZBOA =40°%®, @ ZBOA 1 T =

IS

A T
l. 50° 1. 50°
2. 55° 2. 550
3. 60°° 3. 60°
4. 70° 4. 70°

5. (5:-10), (=15, 15) and (5, 5) are the 57. AABC & ¥fief A, B 3R C & fewis
coordinates of vertices A, B and C FH: (5, —10), (15, 15) Ak @, 5) &

respectively of A ABC and P is a point on
a9 "ifeasw AD W TFR B fF
median AD such that AP : PD = 2 : 3. Ratio LADM RGP ®

of the areas of the triangles PBC and ABC AP: P D=.2:3%lﬁl§~':l’fPBC3fr{ABC
i & &l w1 S &

1. 2:3 L. 243

2. 3:4 2 54

3 DD 3 348

4, 4:5 4, 4:5

58. P is a point on the graph of y = 5x+3. The 58, y="5x+3% et W feom P i fig 21
coordinates of a point Q are (3, -2). If M is frdt fig 0 & fwis G, -2) &1 3

t!le mid point of PQ, then M must lie on the PQ #1 T-fig M 2 @M= AR
line represented by

frefim Y w feum g =fee

l. y=5x+1 l. y=5x+1
2. y=5x-7 2, y=5x-17
g 9 s 9

3. = — —— 3. f—— —_——
=33 BT h

5 .1 5 1

4. y==x+-— 4, y=Zx+—
T Y=3713

22



59.

60.

61.

Three - digit numbers formed by using 59. s 0, 1, 2 3R 5 &1 v @ T

digits 0, 1, 2 and 5 (without repetition) are
written on different slips with distinct
number on each slip, and put in a bowl. One
slip is drawn at random from the bowl. The
probability that the slip bears a number
divisible by 5 is

. 2
9
g X
9
3. 2
3
4 1
3

The mean of fifteen different natural
numbers is 13. The maximum value for the
second largest of these numbers is

46
51
52
53

o L R) =

Assertion (A) : During eighteenth century

France witnessed the emergence of a middle

class.

Reason (R) : The emergence of the middle

class happened on account of royal

patronage.

1. Aistrue, R is false.

2. A is false, R is true.

3. Both A and R are true but R is not the
correct explanation of A.

4. Both A and R are true and R is the
correct explanation of A.

23

60.

61.

(fom gedt &) o9 ofi @1 wemd
T fafv= ofdal @ weRr fomn
v ¢ fF wew v W fa=m gen
fodt 2, ao1 3% UF weR H W@ fem
S 21 39 #eR ¥ 9, a5few w9 9,
wF et freEe Wt % 3 o WS 9
faura & g #1 wifgwar 2

W l— W Ol o|wv

9@ f9=-fa= wma gemst &1 W 13
B ¥ weme ° e 9S gem ¥ o
B wen ®

46

51

82

53

e LT g =

HIT (A): 3ERed YA & WA B
¥ U weFar &1 wgHe ga

HROT (R): Aean 1 WigHia el
TV % HROT g

. A 9& 2, R @ 2

2. A e g, R 2

3. AR R 3 W@ € &frT R A #
e = e 2

4. A ¥R RTA T 2 SR RAF W
= 2



62.

63.

Assertion (A) : The lives of pastoralists in
India underwent dramatic changes under
colonial rule.

Reason (R): In most areas the lands
regularly used by pastoralists for grazing

were taken over by the colonial state and

given to select individuals for cultivation.

1. Aistrue, R is false.

2. A'is false, R is true.

3. Both A and R are true but R is not the
correct explanation of A.

4. Both A and R are true and R is the

correct explanation of A.

Assertit;n, (A) : By the early twentieth
century, America became the biggest

- supplier of wheat to Europe.

Reason (R) : The expansion 3f  the
railways during the period greatly facilitated

. the transport of grain.

l. Aistrue, R is false. .
2% A is false, R is true.
3. Both A and R are true but R is not the
~ correct explanation of A.
4. Both A and R are true and R is the
correct explanation of A.

24

62.

63.

HIT (A ): JufRfiE wem & e,

ETel & Sfta | Aesid ufedT gul

@ROT (R): AfoFa ol d 9 o

& fou =wEwl gu fFafhe §9 9@ swas

FI I At S A Rl e

g I® AR FB g g ATl H

wft FH & faw 2 & offl

I. A W&l 2, R e 2

2. A 7o €, R 2l

3. AR R A et € aifrT R A 51
e =Are T e

4. A ¥R RTHA W& 7 3R R A %1 w8
e B

HIT (A ): drel v & e Tl

& omftE e H W F R FA

e HaW g ] a9 T an

HROT (R ): 39 3@y 9 &4 & fawn

¥ o= & ufteed # @ga gfawn & m)

1. A Wét 2, R e 2

2. A T 8, REE 2

3. AR R 3 @@l € afFT RA %1
& =ren @ R

4. AR R WE ? SR R A #1 we
e 21



64. Match the following table and choose the 64. fr=fafaa afas & w9 1 3R 11 F1
correct response from the options given - S 72 3R wy 1§ fXu T ae &

thereafter. Yy w11 ¥ fu T fawed & a
Column-1 Column-I1 we el {
A. | 1910 | I. | Establishment of Tonkin Free w1 w1
School. A [ 1910 | T | 2ifFT w1 e &I e
B. [1930 | II. | Formation of French Indo- B. [ 1930 | Il | %9 gei-wmgT &1 i
China. C. | 1907 | Il | 3gt-9m1 & 3-uR &
C. | 1907 | III. | Completion of the trans-indo- : A2geh famfor = U
China rail network. D. 1887 v f‘aq.ﬂ:“q Bﬁ m qlﬁ
D. | 1887 | IV. | Formation of the Vietnamese s
Communist Party.

1. A-III, B-1V, C-1, D-II
2. A-IV, B-III, C-II, D-1
3. A-L B-1, C-1V, D-II
4. A-IV, B-1, C-11, D-1lI

A-I11, B-1V, C-1, D-II
A-1V, B-III, C-II, D-1
A-I11, B-1, C-1V, D-II
A-1V, B-1, C-11, D-III

. W D =

65.  Arrange the following Indian novels in 65, fr=fafEd 9T ST=G & 396 o@q

accordance with their year of writing/ / YHRH @ & FER m FHifw
publication
a. Indulekha a. I3er@l
b. Rajasekhara Caritramu b. TR =fem
c. Yar.nuna Paryatan ¢. T T
d. Pariksha-Guru
d. 9l - &
. e.b,d;a l. ¢,b,d,a
2.8d B¢ 2. a,d,b,c
3. 0db.a 3 od b
4, a,b,d,c 4. a, b,d,c

25



67.

The main tenets of April Theses during the
Bolshevik Revolution were:

1.

Closing the war, shifting of banks, land
pooling by government.

Formation of labour government, bank
nationalisation and land distribution.
Communist government, land
fragmentation and merger of banks. -
Ending the war, bank nationalisation and
land transfer. -

Mahatma Gandhi changed his dressing style
from Western to Indian over a period of
time. Match those changes as given in
Columnl and Column-Il and choose the
correct response from the options given

thereafter.
Column-I Column-I1
A. [ Suit_ I | 1915
B. | Lungi-Kurta II. | 1890
C. | PeasantDress | III. [ 1921
D. | Short Dhoti IV. [ 1913

12
2.
3.
4.

A-I1, B-1V, C-1, D-III
A-I1, B-1, C-1V, D-III
A-I11, B-1V, C-1,-D-II
A-1V, B-11I, C-1, D-II

26

66.

67.

aeRifasr s o SR otier ofifew &

ded &g A 3 o

l. 3% F1 9|, 96 F7 TR,
TR G S H 3HgT HEM

2. oW R 1 fmior, S @
T, R gfy oo

3. rEE WER, 9 fauea sk Fa
1 faema

4. IZ @A F, 46 F TLEH
R qffy sfaron

e Mt A U @ty & SR ufyEw
AU (TETH) it BIgH ARG I
IAEE ot N § E afem =
HAGEF 98 R IEh wWH | § &
e # WY 19 e oadt e

& WY A e
w1 w9 1
A = 1 1915
B. |-z 1l 1890
C. | frart v T} 1921
D. |a& ud v 1913

1. A-IlL, B-1V, C-1, D-11I
2. Al B-1, C-1V, D-I11
3. A-IIIL, B-1V, C-I, D-II
4. A-1V, B-III, C-I, D-II



68.

69.

In late 19" and early 20™ centuries, 68.

nationalism captured the imagination of the
Indian people through a variety of cultural
processes. Which of the following was not
a part of those processes?

. Rewriting history to show India’s

continuous progress from the ancient to
the modern times.

Creation of different images of Bharat
Mata.

Recording, collection and publication of
folk tales and folk songs.

Designing flags as inspiring symbols of
nationalism.

Choose the correct response from the given
options.
Nomadic people move over long distances
because

By temperament they do not like to
settle down in any one place.
They constantly look for
pastureland for their cattle.

They follow a life style which is very
different from the settled communities.
Economically they are too poor to own
land.

good

27

69.

19 df YAt & wadi oW A aik 20 o
TAE kSRR 9§ H, yeaR @
e 4 fafem wiepfre wfEael &
HEH § 9RAE @l #1 wew
e W o frafafas § @
ﬁq—mmsﬁm&mmwﬁm?
l. WA #1609 " F1 9 9Ra
F1 T WG H WA F fou sfem
F T 3 formm ’
2. oG A # Fe-fre st #
T F=
3. dikwuRl g dEie # cEEg
FI, THET T AR THIEG F
4. TEEE & WE TR & ©9 F e
% fesmed dar &

fow T fomedi & ¥ W sw gfwm,
Y W R TE T FW @A §
Hifen

L & o @vEe fFlt @ o W
TE TE ARl

2. 9 WIER AW wE & fau e
T F TA W @A B

4. oM gfe ¥ s s e 2R &
&% o s & wfes T8 =9 933



70.

m .

Choose the correct response from the given  70.

options.
In 19" century England grain production
grew as quickly as the population because

5

Farmers used simple agriculfural

technology to greater effect.

Radical innovations were made in
agricultural technology.

Larger and larger areas were brought
under cultivation.

Increasing number of poor people found
work as agricultural labourers.

Choose the correct response from the given
optiohs. :

By the late 19" century Indians began
searching for a national dress because they
wanted to

1.

4
4.

Show that in terms of dress they were

not inferior to the British.

Get rid of the blame of blindly aping the

West. = %

Define the cultural identity of the nation.

Culturally synthesize the traditions of
the East and the West.

28

71.

fau T faemedi ® @ WE W AL,
19 & & % geie H @R SR
Iq & I 9 w@ foa ot ® ST

3. 92 9 & Wil % 3T=d @Ig Y
4, The @ A sfufus e 7 Hi
gl % &9 § ®M fwa

feu T fawedl # ¥ W& W Ff,

19 o Tt & anfEd SR #, WRdE A
T TG T @ e R o
FifH

1. 3 9 fg@Fm =ed 9 f& v i
ofic ¥ 3 fafem @i @ A T 2

2. 3 3@ geHL UREH & THA B
% oizd § 991 9ed o

3.9 T W owEphm ®EH FH
yfefia T =ed 9

4, 3 wiegfes R W qd 3R wfemm H:;
RS 1 GO FEA =% Al



72.

73.

Choose the correct response from the given  72.  fu o famredl § @ T8t 3 gff,
options.

The unification of Germany in 1871, for a
change, demonstrated

(%

The triumph of the
aspirations of the German middle-class.
The fulfilment of the liberal initiative to
nation-building.

The power of the common people, das
volk.

The dominance of the state power and
conservatives’ success in mobilising
nationalist sentiments.

Choose the correct response from the given
options.

The formation. of the ‘United Kingdom of
Great Britain’ in 1707 meant, in effect,

1.

2

Equal representation of all the British
Isles in the British Parliament.

-Recognition to the ethnic identities of

the Welsh, the Scot and the Irish.

The cessation of conflicts between the
Catholics and the Protestants.

The dominance of England on Scotland
through the English supremacy in
Parliament.

29

democratic’

3

|871ﬁaﬁ=ﬁ$qaﬁam%yﬁaﬁa%

w9 ¥ guian -

. S o Hegad  #1 dlsdis
ArkTeeT wt S

2 rrsgﬁnfma‘ﬁﬁmquwaﬁ

Tﬂﬁ |

3. M @rl g9 dick HI

4. TS e B gEE O °§ TG
vfE &1 wgEa R wfgafed =
el

'ﬁqmﬁwu‘fﬁ@nﬁmgﬁﬁ

1707 & FEeE fFmen ik W2 feq =1
TG T ardfas Ad o

1. @+t fafew g =1 fafew wfdfande o
T i

2. do9, Whiz R FEfw #1 yeE
YgEMEl 1 A=

3. ®eifas AR g @ % &
o 1 gaifa|

4. wifdtanie § greieafdl #1 T %
e @ WhigHE W §eie H1 |



74.

15

Choose the correct response from the given 74. fgu Tt fosredl # @ W& SW gf,
options.

Many within the Congress were initially
opposed to the idea of non-cooperation
because "

-council

They did not think that British rule in
India would collapse if Indians refused
to cooperate.

They were not yet sure of Gandhiji’s
ability to successfully lead a nationwide
movement.

They were reluctant to boycott the
election  scheduled for
November 1920.

They did not agree with Gandhiji’s
proposal to carry the movement forward

in stages.

Choose the correct response from the given
options.
The main reason why the Society of
Revolutionary and Republican Women was
set up during the French Revolution was
because

i

Women wanted laws that would help
improve their lives.

Women wanted the same political rights
as men.

Women wanted their interests to be
properly represented in the new
government. _
Women wanted access to education,
training for jobs, and wages on par with
men.

30

5.

FH & AR o T ¥ @M oIS §
SEEAT & AR & fed % FiE

1. 3 98 ¥ d9=d 9 f& ok a3
Edm 31 ¥ FHR W @ A 9w
H fafewr wmem wrremdt & smom

2. 3 af Wish # U stideH
HI THeAEs dol WHA Hi &
& gfq 9gad smvas @ 9

3. 9 @R 1920 ® ¥ A g &
A& F1 afEsHR FE T =R o

4, 3 HEF TON H QA TAH &
M % wEE | wEEd T8 o)

faw mu fawedi ® ¥ wE W g,
HEE wifd % dRm foegwEd iR
fofsasa foml #1 g S w9 &1
& FHRO T8 a1 f6

I fomi @@ w oweda o
AT ST g

2. femi 3 & usriifos sfusr =
off St geui & 9 4

3. foai o8 wwd of fF % @R |
Ik fedl &1 waia yiaffua fa

4. o awdt of f& foar SR Fm &
fore wftreror St g9 § & @R 3R
TEu & T a0 fHal



76.

i

Assertion (A): The EI Nino, a cold ocean
current flows along the coast of Peru during
Christmas.

Reason (R): The presence of the El Nino
leads to an increase in sea-surface
temperatures and weakening of the trade
winds in the region.

1. Both A and R are true and R explains A.
2. Both A and R are true but R does not
explain A.

A is true and R is false.

. Als false and R is true.

E I ]

Assertion (A): Air temperature decreases
from the equator towards the poles.

Reason (R): As one move from the sea
level to higher altitudes, the atmosphere
becomes less dense and temperature

decreases.

1. Both A and R are true and R explains A.

2. Both A and R are true but R does not
explain A.

3. Alstrue and R is false.

4. A is false and R is true.
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76.

77.

®I7 (A) : TeEEl, TH 3 st

SauW fohamd # SRA YR % de @

WY-H1Y qEdl 2

@ROT (R) : ToHm &1 Sufeufd wuqg

FI WaE & AGHH F w@ o & q° 39

& H =i g &1 fafre # 3

2l

I. A 3R R 3Af @&t € @e1 R, A &
& F 2

2. A ¥R R 3 W&t € fg R, A &1
AT el w2

3. AWE ? 3R R TeW 2

4, AT ® 3R R TE R

w9 (A) : 9g augH fagea g9 @
el 1 R Al S

HRUT (R) : 94 % Al 95 a1 9
SOE K IR W@ € @ agHvSe H
A FH B S & 9 99aE S S
2l

. A @R R A ¥& & 991 R, A #1
A FT 2

A 3R R 3l g€t & fFg R, A 1
e Tl w2

A F& # 3R R @ o

4. AT B 3R R & R

(S

(%)



78.

g >

Match List-l (local name of shifting
cultivation) with List-II (States/Region) and
select the correct answer using the code
given below:

List-1 (local name of List-11 (States/
shifting cultivation) Region)

A. | Dahiya I. | Jharkhand

B. | Kumari [1. | Madhya Pradesh
C. | Bringa lIL. | Odisha

D. | Kuruwa 1 1V. | Western Ghats

l. A-ILl, B-1V, C-II, D-I

2. AL B-1V, G-I, D-I

3. A-L B-lII, C-1, D-11

4. A-1,B-1V, C-111, D-11

Assertion (A): Most nuclear power stations
in India have been constructed near sources
of water.

Reason (R): Nuclear power stations
require, a great quantity of water for cooling
purposes. )

" 1. Both A and R are true and R explains A.

2. Both A and R are true but R does not
explain A.

3. Aistrue and R is|false.

4, A is false and R is true.
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78.

9.

AiferehT-1 (TIMIRE Y & T W)
F w11 (TWF/8F) & 9y faense
dun fRu T Fe F W FW L TEl
W%’lwmz

arferart-1 ( TATTaToT arferer-11
iy & g ) (T /87)
A. | e L | grEe

B. | Fur L |5 .
R L | sifeen

D. |Fe V. | gfeem @@

1. A-lII, B-1V, C-II, D-1
2. A-ll, B-1V, C-III, D-I
3. A-L, B-lIL, C-1V, D-lI
4. A-L, B-1V, C-IlI, D-1I

FIT (A) : 9@ H A T

T 5 9 Sl ® fee I T 2

HIOT (R) : Yider & I5-¥d ¥ TH0]

Tl h= Wl s WEl § WA Wi

HEvIFHA Bl 2l

I. AR R I @&t € a0 R, A FI
e w1

2. A 3R R 3 wét € fFg R, A #I
e TEl Hl B

3. AWE ¢ 3k R 7Tem R

4. Ao ® @R R W€ 2
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80.

81.

Assertion (A): Peninsular rocks contain
many reserves of coal, metallic minerals,
mica and many other non-metallic minerals.
Reason (R): Sedimentary rocks on the
western and eastern flanks of the peninsula,
in Gujarat and Assam have most of the
ferrous minerals.

I. Both A and R are true and R explains A.
2. Both A and R are true but R does not

explain A.
3. Aistrue and R is false.
4. Ais false and R is true.

Which one of the following states has
common borders with the least number of
countries?

|. Uttarakhand

2. West Bengal

3. Arunachal Pradesh

4. Sikkim
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80.

81.

AT (A) : TEEda Ve # oEw
He, Ui A, 9% a9 A4 FE
Auifad @il ® Gfead Hi9 9w 5[ )
0T (R) : WEEY & ufeerd o g
uval W, T AR EH # desd
T2 | Iy de | e a S| €
I. A 3R R TF @& & o1 R, A ®1
ST H 8

2. A 3R R I w& € fhg R, A F
A TEl Il 2

A TE ® 3 R Ted 2

4, AT § 3R R W@ 2

(S ]

frefafes & 9 feg = 1 9w 99 9
F9 29 o 91y fierd 82

. SUEs
2. ufv=w qma
3. STEUTEE Woul
4. faferm



82.

83.

Match List-I (Rivers) with List-1I (National
Waterways) and select the correct answer

using the code given below:

List-1 (Rivers)

List-11 (National

Waterways)

A. | Ganga I. | National
| Waterway No. 4

B. | Brahmaputra [I. | National
Waterway No. |

C. | Godavari and I1I. | National
Krishna Waterway No. 5

D. | Mahanadi and IV. | National
Brahmani Waterway No. 2

1. A-L, B-II, C-III, D-1V
2. A-lL, B-1l1;C-1V, D-I
5. A-lV, B-1ll, C-II, D-1 -
" 4. A-Il, B-1V, C-I, D-III
Match  List-l (Rivers) with List-II
(Tributaries) and select the correct answer
using the codes given below:
‘ List-I (Rivers) List-11 (Tributaries)
A. | Godavari 1.+ Lohit
B. | Ganga II. - | Koyana
_&C_.._ﬁi_sﬂlig____“____{ll. “Wainganga
D. | Brahamputra IV. | Son

B dad Ky e

A-I1, B-I11, C-1V, D-1
‘A-ll, B-I, C-III, D-IV
A-111, B-1V, C-I1, D-I
A-1, B-III, C-1V, D-II

82.

83.

aifasr-1 ()

F afew-11 (TEE

Semr) & @y fremse qun g T Hte
F P HW L W IW H A

FHifera:
arferent-1 arferanr-11 (Tt
() Erind)
1. TR Fear
B. | &% e |
e o | UL | g Stemnt
- Fom e 5 :
werEr g | IV, | e Semn
= FTIOT g 2
1. A-lL, B-II, C-llI, D-IV
2. A-ll, B-1lI, C-1V, D-I
3. A-l1V. B-1II, C-I1, D-1
4. A-Il, B-1V, C-1, D-II1
afas-1 (A) & afew-1 (FeEs
T4) % Wy fAesy qun &Ky 1 FE H
YA G §U TR S H FIF HIOC;
arferent-1 (1) | arferenr-11 (\gTas &)
A. | TREd L. difea
B. | W L | wm=3
c. | zom ML | S
D. | #EqA V. | €=
1. A-II, B-III, C-1V, D-I
2. A-ll, B-1, C-III, D-IV
3. A-IIL B-1V, C-I1, D-I
4. A-l, B-II1, C-1V, D-11




84.

85.

86.

Arrange these hills/ranges from north to  84.
south direction

I. Zaskar Range

I1. Shiwalik Range

[11. Karakoram Range

IV. Ladakh Range

. NLIV, L1
2.. I, L1V, 1l
3. LILHOLIV
4, IV, 1L LTI

Match List-1 (Rivers) with List-1I (Origin) 85.

and select the correct answer using the
codes given below:

List-1 (Rivers) List-11I (Origin)
A. | Godavari I. | Cardamom Hills
B. | Krishna Il. | Amarkantak Hills
C. | Narmada 111, | Nasik Hills
D. | Vaigai IV. | Mahabaleshwar

A-1V, B-111, C-1, D-I1
A-II1, B-1V, C-l1, D-1
A-l, B-I1, C-1V, D-111
A-11, B-I, C-11I, D-1V

B =

Assertion (A): In India,
migrations have been from rural to urban
areas.

Reason (R): The urban areas offer greater
employment ‘opportunities and better living
conditions.

|. Both A and R are true and R explains A.
2. Both A and R are true but R does not
explain A.

A is true and R is false.

4. A is false and R is true.

L8]
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most  86.

frfafes veifedgaensi (Sfomi) =i
I | =fau fgen o safeea Fifd:

[, SRt 4oit

1. ferenfers goft

[11. FTHTH Foil

V. egErE 4ot

L. HLIV, LI
2. L LIV, 1
3. L0110V
4. IV, 1L L1

aferi-1 (1) #1 afer-11 (35™) &
ey foemeu qen fGu MU FHis w FEM

FId EU Tl IW I 97 hifad:
Aferar-1 (Ft) | aferem-11 (39)
A. | TR L | zewreh veifeal
B. | M Il | swes wefedl
c. | Fom L | e verfeal
D. | & IV. | wemees

1. A-1V, B-1IlI, C-1, D-II
2. A-llI, B-1V, C-I1, D-1
3. A-1, B-1I, C-1V, D-III
4. A-ll, B-I, C-I11, D-IV

'HTT (A) : 9d ° fuFan vEd

Trfior @ T e #1 AR B 2

&wRuT (R) : ARE & § TR &

afes oTaEY Tl R Sed WR K

frorf fiyerdt 21

I. A @R R 3 @&l & a1 R, A &1
=T H 2

2. A @R R 2 wE € fAg R, A H

e 78wl gl

A TE & 3R R T 2

4. ATEE 2 AR REE 2

s



87.

- 88.

Arrange these hills from west to east
direction.

Khasi hills

Garo hills

Naga hills

Jaintia Range

Saow»

C,A,B,D
D.B, A, C
A,B,C,D
B,A,D,C

BN —

Assertion (A): The Earth does not recejve
an equal amount of solar energy at all
latitudes. )

Reason (R): As one goes from low ~

altitude to high altitude temperature
decreases because atmosphere becomes less

~ dense.

I..Both A and R are true and R explains A:

2. Both A and R are true but R does not
explain A.

3. Aistrueand R is false.

4. A s false and R is true.
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88.

frerfefed weifeal #t ufeem @ g from
o afed wife:

A. @t eifear

TR veIfEEl

I yeiteat

C,A,B,D

D,B, A, C

A,B,C,D

BADDC

P~ 0 0w

HIT (A) : 9eat | reiel W EE

wen R e g e w2

RO (R) : 5& & =Afgq 779 a8

¥ i F9E | @ € A awEE g

S @ Hh aEed # guEE #W

el Wt 2

l. AR R 3 @&t § aa1 R, A #
S F B

2. AR R 3w € fFg R, A H
=ren T T

3. AWd 2 3k R 7o 2

4. AT © 3R RE R



Match the vegetation zones in Column-l 89. =feg-1 ¥ fgu 7u FA=fG & i

with the associated mean annual average Fem-11 § ffu T sima aiffs aaam
temperature (in degree Celsius) in Column- it Aferag ) A )
1. ( - ) -
Column-I Column-I1 i =
A. | Tropical I. [ 17°Cto24°C A. | SO wfeadm | 1. 17°8 ¥ 24°%
B. | Sub-tropical 1. | Above 24°C 37 I
C. | Temperate L. | *Cte17°C B. e IL. 24°% § W
D. | Alpi IV. | Below 7°C =
P S C. | i M. | 7°8 9 17%%
D. | TedrEA Iv. |7°% @ &9
1. A-ll, B-I, C-III, D-1V [. A-II, B-I, C-III, D-IV
2. A-ll, B-II, C-1V, D-I 2. AL B-II, C-1V, D-I
3. A-IlL, B-1V, C-III, D-I 3. A-IL, B-1V, C-111, D-I
4. A-1V, B-Il, C-111, D-I 4. A-1V, B-Il, C-II1, D-I

Match the given crops with their major 90. 9Rq @& HHfET ® W@ T TH@ SARH
producing areas shown on the map of India. &5 # & T wEel & @y faam #5%

Y 3

\‘JJ
A. Wheat A T
B. Coffee B. FTH
i C. Jaad
D. Tea

D. 9F

1. A-l, B-1V, C-IlI, D-II 1. A-l, B-1V, C-lII, D-11
2. A-l, B-II, C-I1I, D-IV 2. A-l, B-II, C-I1I, D-IV
3. A-lll, B-II, C-1, D-IV 3. A-lll, B-1I, C-I, D-1V
4. A-1V, B-III, C-1, D-I11 4. A-1V, B-lII, C-1, D-11
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91.

92.

Which of the following statement/s is/are
true about federal systems?

d.

All federations have a similar scheme
of distribution of powers.

The origins of different federations are
dissimilar. '
Federalism promotes unity at the cost
of diversity.

Federalism promotes unity in diversiqu.

Only b
aandc
bandd
a,bandc

I do not contest elections, but I try to
influence the political process. | have a
specific policy agenda. I have no interest in
seeking political power. Who am 1?

BN =

Bureaucracy
Court

Pressure group
Media

38

a1.

92,

frefafas § ®F T8 o9 g8 232

a.

aft T T e § vfe
faueM =1 g9F ®9-3@n Bt 8
fafe=r w=i #t safe fafa= o @ &
2l

HoaR fafauar #1 FHd W THar 51
Fgral a1 2l

gyar fafauar & wwar it se@ @
2

1. %ad b
2. ad¥l ¢
3

4, a, b3 ¢

baur d

¥ g T wea@, feg ¥ g whEa
1 yafed FW &1 W H@1 1 W 9
faftre ifema Fren €1 q@ TsHifaw
Ul A HT HE A T B @A B 2

1.
2.
3

EICTeGl

e
A R

4. Hifea



93.

94.

Which of the following statement/s is/are

true?

a. India is among the bottom group of
nations in the world when it comes to
the representation of women in
legislatures.

b. Women in the Arab countries are most
active in public life.

c. India has lesser representation of
women in legislatures as compared to
Sub-Saharan Africa.

d. The share of women in legislative
assemblies in India is lower than that of
their representation in Parliament.

1. aandb

2. bandc

3. a,bandd

4. a,candd

Which of the following issues has been
most successfully addressed by the Indian
democracy?

1. Social inequality

2. Economic inequality

3. Political inequality

4. Natural inequality

39

S/14 NRS/2015—SAT—Hindi—4!

93.

94.

Frafafad § #1998 FoT GEl 227

a. Tornfaem o wfeenet & wfaffua =1
gfte @ wra gfmn o wed fose <@
T 2l

b. 3@ =3 | HEWE Siad H Higag
waifie aferd 2l

¢. FI-EEW SwE W W gem d
g fauifaer @ ufeenei &
yfafafeea =7 21

d. 9 gEe o wfgened #1 fewderd
F1 gor ° 7Rl & faum et #
71 federd %9 2

I. a shad b

2. bau ¢

3. a,bdan d

4. a,cdur d

aRA wiwd o Frefafad R TR H
T (@ d T 87

|. gmifss fauma
. anféres Toemar
. UeHifas fauda

. Wrepiaes femwa

FEN VS



95. Match List | (Leaders) with List 1l 95,
(Political parties) and select the answer
using the codes given below.

List | List IT
I. | EMS. a. | Bahujan Samaj
Namboodiripad Party

II. | Sheikh Abdullah | b, |-Telugu Desam
III. | N.T. Rdma Rao | ¢. | Communist
Party of India
(Marxist)
IV, | Kanshi Ram d. | Jammu &
Kashmir
National
Conference

Ic I1d [l1a IVb
Ib I1d [llc IVa
llc I11a IVd
Ic 11d 11Ib IVa

-hwpa-—-
o

96. Economic  growth . is growth in 96.

value of total output.

value of total investment.
value of industrial output.
value added of all sectors.

L=

97. Mahatma  Gandhi  National Rural 97.
Employment Guarantee Act aims at
providing
1. employment to rural people in

government offices.
2. 200 days of work/year in rural areas.

100 days of wage employment in a

year to rural households.

4. 365 days work in rural areas.

(%]

40

gel-1 (1) =1 gi-11 (Isrifas ) @
fram #X @ik 9 Ry #e § @@ sW
Hl

gei-1 (5ar) eit-11 (Treetfaes
9 )

ZUHTHo a. | 9gs GHISERET
Tl kicil

I | Y@ srgeen | b | 3 S9m

. | WRd &I
1. | T TRE Fegfre e
(AR )

d. | 99 wd FoiR

Iv. | &E Sy g

Ic I1d [lla IVb
Ib [1d lllc [Va
Ib lle Illa Ivd
Ic I1d I11b IVa

A,wu:—

i Hafg Frafafe s9fs o faa
3fmE w2

l. Fd SURA & o4

2. g few & g

3. e S & qe

4. el & F g WS M HeE F1 AW

HETHT et T T USRI we

aa're‘éw%:

|. S HEtea § o oW
TSR 31

2. rftor &= H uw A | 200 A F
I UM Iuete &

3. yrfto ofEri &t ww ad § 100
& fau Aeiglt & @y ISR

4. o &= F 365 feAl & faw ew
ISR HIAT



98.

29.

100.

A landless worker in a village takes a kind
loan of two bags of rice from the village
landlord. The condition is that she will
repay the loan in two and half bags of rice
at the end of one year. The interest paid
equals

|. the difference between the money
‘value of rice between now and at the
end of the year.

31.25 percent of the original amount of
loan.

(3%

3. 25 percent of the original amount of
loan.

4. the difference between the rates of
interest charged by banks between now
and at the end of the year.

Non-market activity is

a state of unemployment.
producing for self consumption.
selling the products nearby temples.
selling the products through the
Regulated Market.

= e =

A typical farmer’s capital includes tractor,
turbines,  plough.
pesticides and cash in hand. Which of

seeds.  fertilisers,

these combinations can be classified as

working capital?

I. Tractor, turbines and plough

2. Seeds, fertilisers, pesticides and cash in

hand

Plough, seeds, fertilisers and pesticides

4. Plough, seeds, fertilisers, pesticides
and cash in hand

L

98.

99,

100.

et ardior somer # gfadm gfvew e &
SHITR 9 99e & & 9] IUR % B9 j§
ot 21 v 98 ? TR O % e | aw 2
AR MY W GEE ¥ WY IR aNE
FUM 78 | g5 frefafas § @ fFa &
W%:

|. =T9e 1 HIHd | A9 91 94 &
< & AR

FU1 HT T 1 31.25% Sfavma

F01 1 TR &1 25 wfavE

i 5N ol T R W e
quT a9 F I &H AR

b

= 2

g foraeram fefafas o 9 fad
Fed &7

|. ST 1 feafa
-39 & fod SarA

USE % At H IR F A9
et Rl & mweAn | 3 i
AT

oL

el foream &1 4t | JaeX, @A, 74,
|YSl, WIg, FHISANE 991 s ®93 IiHd
% freafafas & 9 frg sewel 45 #2
o &

|. 2R, TEEA a1 &

o9, @I%, HIZARTE a1 THg T2
7, 991, @R qU1 HIARS

g, disl, @I, HIANE qdl 6%
=Y
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